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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: A. thank	B. that	C. breath	D. path
Question 2: A. fare	B. black	C. match	D. clap
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
	
	
	
	

	 Question 3: A. public 
	B. patient
	C. unique
	D. homeless

	Question 4: A. combustion
	B. family
	C. employment
	D. composer


 
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5. The truck ______crashed into the back of a bus scattering glass everywhere .
	  A. it was loading with empty bottles	B. loaded with empty bottles
	  C. which loading with empty bottles	D. loading with empty bottles
Question 6. This hotel must be ______  than the small one next door.
     A. expensive	B. more expensive	C. most expensive	D. the most expensive
Question 7. I will contact you______ .
A. as soon as I get the information about the course
B. when I was getting the information about the course
C.  after I had got the information about the course		
D. before I got the information about the course
Question 8. I’ve lost my keys. Can you help me look ______them?
      A. up			B. after				C. for			D. into
Question 9. These books aren’t yours, ______?
      A. are these		B. aren’t these			C. are they		D. aren’t they
Question 10. I bought ______ umbrella to go out in the rain.
      A. a	B. an	C. 0 ( no article)	D. the
Question 11 Buying a house often places a large financial _______ on young couples.
	A. weight	B. heaviness	C. load	D. burden
Question 12. If you want to be healthy. you should ______your bad habits in your lifestyles.
   A. give up			B.call off 		C.break down			D.get over 
Question 13. Would you mind______ the window?
        A. to opening	B. open	C. to open	D. opening
 Question 14. My cousin really seems to land on his ______ having won the lottery. He’s never bought any   lottery tickets before.
      A. feet	B. face	C. finger	D. hand
Question 15. John ______ a book when I saw him.
  A. is reading		B. read		C. was reading			D. reading
Question 16. I'm not sure what flavor I want - I'm still ______ my mind up.
      A. turning	B. making	C. staying	D. taking
Question 17. We can’t go along here because the road______.
      A. is repairing	B.  repaired	C. is being repaired	D. repairs
Question 18. Johnny used to be one of the most ______ athletes in my country.
      A. succeed			B. success		C. successful		D. successfully
Question 19. The police arrived at the______of the accident within minutes.
      A. view	B. scenery	C. scene	D. vision
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.
Question 20:
Mary and John are talking about John’s house 
-Marry: “What a lovely house you have”.
-John: “       .”
A. No problem	B. I think so
C. Thank you. Hope you will drop in	D. Of course not, it’s not costly
Question 21: Two students are talking about the school curriculum.
·  Ann: "Swimming should be taught in the school."
· Peter: “       .It is an essential life skill.”
A.  Not at all		B.  Oh, that's a problem	
C. You can make it		D. I can't agree with you more 
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 22: Names of people in the book were changed to preserve anonymity.
A. cover	B. conserve                      C. presume		D. reveal
Question 23: My brother went to an Italian restaurant for dinner yesterday evening. He was the ten thousandth customer, so his dinner was on the house.
A. with payment		B. free of charge 		D. delicious 			D. costly 
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 24: Students may also get in touch with a recruitment agency for their advice.
A. dismissal	B. career	C. employment	D. service
Question 25: Tom wanted  to soar  the heights of science so he was always at the lab to carry out experiments day by day.
A. to achieve	B. to fly	C. to get                  D. to dedicate
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions 
Question 26: It is unnecessary for you to finish the report until tomorrow afternoon
A. You needn’t finish the report until tomorrow afternoon.
B. You have to finish the report until tomorrow afternoon.
C. You may finish the report after tomorrow afternoon.     
D. You should finish  the report until tomorrow afternoon
Question 27: The last time I saw her was three years ago.
A. I have not seen her for three years.		
B. Three years ago, I used to meet her.
C. I started to see her three years ago.		
D. I have seen her for  three years .
Question 28:  "What did you eat for dinner last night?" asked my friend. 
A. My friend asked me what I ate for dinner the previous night. 
B. My friend asked me what did I eat for dinner last night. 
C. My friend asked me what I had eaten for dinner the previous night. 
D. My friend asked me what had I eaten for dinner the previous night.
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 29: We should remember that all these things have been discovered by way of rigorous analysis and exhausted experience, not by intuition.
      A.exhausted	B. should remember	C. rigorous	D. have been discovered
Question 30: On the other hand,it’s the duty of the young to take care of his elderly parents. 
   A. the                      B. duty	                             C. his	                    D. take care
 Question 31: When I turned on my computer, I was shocked to find some junk mail, and I delete  it all.
A. shocked	B. to find	C. and	D. delete


Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions
Question 32: He is short-sighted. Therefore, he has to wear the glasses.
A. If he isn’t short-sighted, he won’t have to wear the glasses.
B. If he hadn’t been short-sighted, he wouldn’t have had to wear the glasses, 
C. If he weren’t short-sighted, he wouldn’t have to wear the glasses.
D. Should he not be short-sighted, he won’t have to wear the glasses.
Question 33: Mike became a father. He felt a strong sense of responsibility towards his parents.
A. Were Mike to become a father himself, he would feel a strong sense of responsibility towards his parents.
B. Only after Mike had become a father himself did he feel a strong sense of responsibility towards his parents.
C. Had Mike become a father himself, he would have felt a strong sense of responsibility towards his parents.
D. Not until he felt a strong sense of responsibility towards his parents did Mike become a father himself.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38.
How long do you sleep every night? Think of all the things you could do instead of wasting every night sleeping! The idea of never sleeping might sound great, but getting a good night's sleep isn't a waste of time - it's vital for our health. (34)______, we have to sleep to stay healthy.
Most people need more than seven hours' sleep a night, and teenagers might need nine hours. Research shows that if you sleep for four to five hours, you get more (35)______ (like coughs and colds) than if you sleep for at least seven hours. This is because tiredness (36)_______ your immune system weaker. If you don’t sleep enough, you can also get headaches, and your sight can get worse. Being too tired changes (37)______hormones, too. This change in hormones can affect your skin and give you pimples, and it can also make you eat too much. All of this can affect your mood, and many teenagers (38)______don't get enough sleep feel angrier and more miserable than people who do.
Question 34. A. Although  	B. Therefore		C. Because 		D. However
Question 35. A. illnesses	B. treatments		C. remedies		D. symptoms 
Question 36. A. brings	B. does 		C. takes		D. makes
Question 37. A. much 	B. every 		C. some		D. each 
Question 38. A. which 	B. who			C. whom		D. when
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39- 43
Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60 and older, and in 15-20 years the elderly will account for one third of the total population. This raises concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on economic integration and requires a large labor force. So far two solutions have been proposed: to loosen the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the two-child policy the government expects to make up for the ageing population within the next 20 years. But its effect could be creating an uncontrollable boom in the Vietnamese population. When the government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third child birth rate increased remarkably by 7.5 per cent
Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly while creating savings in the pension budget, it also means fewer job prospects and promotion opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture, manufacturing and construction where working above the age of 50 can be dangerous and unproductive. Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.
Question 39: The best title for this passage could be …………
A. Vietnam struggling with ageing population 
B. Stopping the two-child policy in Vietnam
C. Raising the retirement age in Vietnam         
D. How to solve the aging population in Vietnam
Question 40: Which statement is probably TRUE according to the paragraph 1?
A. In 2017, the elderly take up for one third of the total population.
B. In 2015, the two-child policy has been officially tightened and succeeded.
C. The government has set out a law to decrease the retirement age for employees.
D. In 15-17 years, our economy will need a large labor force to integrate with global economy.
Question 41: The word “its" in paragraph 1 refers to ________?
A. two-child policy        B. aging population     		C. retirement age 		D. economic integration
Question 42: In the 2rd paragraph, the writer suggests that ________.
A. The Ministry of Labor has applied raising the retirement age in May 2017.
B. Raising the retirement age can reduce job opportunities for younger generations.
C. The elderly whose age is 50 would be dangerous if they continued to work
D. Raising the retirement age and stopping two-child policy can be long-term and effective solutions.
Question 43: The word "temporary" in paragraph 2 means ________.
A. constant 	B. permanent	 C. short-term           D. long-term

Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to each of the questions from 44 to 50. 

The difference between the nuclear family and the extended family is that a nuclear family refers to a single basic family unit of parents and their children, whereas the extended family refers to their relatives such as grandparents, in-laws, aunts and uncles, etc. In many cultures, and particularly indigenous societies, the latter is the most common basic form of social organization. 
A nuclear family is limited, according to Kristy Jackson of Colorado State University, to one or two parents (e.g. a father and mother) and their own child, or children, living together in a single house or other dwellings. In anthropology, they only must be related in this fashion; there is no upper or lower limit on the number of children in a nuclear family. 
The extended family is a much more nebulous term, but in essence refers to kin or relations not covered by the above definition. In historical Europe and Asia as well as in Middle Eastern African, and South American Aboriginal cultures, extended family groups were typically the most basic unit of social organization. The term can differ in specific cultural settings, but generally includes people related in age or by lineage. Anthropologically, the term "extended family' refers to such a group living together in a household, often with three generations living together (grandparents, parents, and children) and headed in patriarchal societies by the eldest man or by some other chosen leadership figure. However, in common parlance, the term "extended family" is often used by people simply to refer to their cousins, aunts, uncles, and so on, even though they are not living together in a single group. 
Historically, most people in the world have lived in extended family groupings rather than in nuclear families. This was even true in Europe and in the early United States, where multiple generations often lived together for economic reasons. During the 20h century, average income rose high enough that living apart as nuclear families became a viable option for the vast majority of the American population. 

Question 44. Which of the following could be the best title for the passage?
A. The dominance of nuclear families over extended ones 
B. The dominance of extended families over nuclear ones 
C. A distinction between nuclear families and extended ones 
D. The changes of family types over times 
Question 45. The word "the latter" in paragraph 1 refers to ____.
A. family unit 		B. relatives 		C. the nuclear family 		D.the extended family 
Question 46 The word "patriarchal" in paragraph 3 is closest in meaning to ____.
A. ruled or controlled by men 			B. equal for both men and women 
C. simple with no rules and laws 			D. modern with advanced facilities 
Question 47. According to the passage, single-parent households ____.
A. are not defined by anthropologists 		B. are the existing trend of family arrangement 
C. are included in the term "nuclear family" 		D. are on the decrease 
Question 48. The word "viable" in paragraph 4 could be best replaced by ____.
A. impossible 		B. possible		C. explainable 	D. fashionable 
Question 49 . Which of the following is TRUE according to the passage? 
A. Since the 20th century, more and more American couples have lived in extended families because of the financial burdens. 
B. Nuclear families are the most basic form of social organization all over the world. 
C. The popularity of nuclear families in western countries helps to stabilize family arrangement.
D. Traditional nuclear families have changed a lot over times.
Question 50. What can be inferred from the reading passage?
A. Indigenous communities have been completely eradicated all over the world. 
B. In the future, all extended families will be replaced by nuclear ones. 
C. Anthropology is a science concerning human race and its development. 
D. Couples with no children can't be defined as families.
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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: A. thank	B. that	C. breath	D. path
Question 2: A. fare	B. black	C. match	D. clap
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
	
	
	
	

	 Question 3: A. public 
	B. patient
	C. unique
	D. homeless

	Question 4: A. combustion
	B. family
	C. employment
	D. composer


 
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5. The truck ______crashed into the back of a bus scattering glass everywhere .
	  A. it was loading with empty bottles	B. loaded with empty bottles
	  C. which loading with empty bottles	D. loading with empty bottles
Question 6.  This hotel must be ______  than the small one next door.
     A. expensive	B. more expensive	C. most expensive	D. the most expensive
Question 7. I will contact you______ .
A. as soon as I get the information about the course
B. when I was getting the information about the course
C.  after I had got the information about the course		
D. before I got the information about the course
Question 8. I’ve lost my keys. Can you help me look ______them?
      A. up			B. after				C. for			D. into
Question 9. These books aren’t yours, ______?
      A. are these		B. aren’t these			C. are they		D. aren’t they
Question 10. I bought ______ umbrella to go out in the rain.
      A. a	B. an	C. 0 ( no article)	D. the
Question 11. Buying a house often places a large financial _______ on young couples.
	A. weight	B. heaviness	C. load	D. burden
Question 12. If you want to be healthy. you should ______your bad habits in your lifestyles.
   A. give up			B.call off 		C.break down			D.get over 
 Question 13. Would you mind______ the window?
        A. to opening	B. open	C. to open	D. opening
 Question 14. My cousin really seems to land on his ______ having won the lottery. He’s never bought any   lottery tickets before.
      A. feet	B. face	C. finger	D. hand
Question 15. John ______ a book when I saw him.
  A. is reading		B. read		C. was reading			D. reading
Question 16. I'm not sure what flavor I want - I'm still ______ my mind up.
      A. turning	B. making	C. staying	D. taking
Question 17. We can’t go along here because the road______.
      A. is repairing	B.  repaired	C. is being repaired	D. repairs
Question 18. Johnny used to be one of the most ______ athletes in my country.
      A. succeed			B. success		C. successful		D. successfully
Question 19. The police arrived at the______of the accident within minutes.
      A. view	B. scenery	C. scene	D. vision
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of thefollowing exchanges.
Question 20:
Mary and John are talking about John’s house 
-Marry: “What a lovely house you have”.
-John: “       .”
A. No problem	B. I think so
C. Thank you. Hope you will drop in	D. Of course not, it’s not costly
Question 21: Two students are talking about the school curriculum.
·  Ann: "Swimming should be taught in the school."
· Peter : “       .It is an essential life skill.”
A.  Not at all		B.  Oh, that's a problem	
C. You can make it		D. I can't agree with you more 
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 22: Names of people in the book were changed to preserve anonymity.
A. cover	B. conserve                      C. presume		D. reveal
Question 23: My brother went to an Italian restaurant for dinner yesterday evening. He was the ten thousandth customer, so his dinner was on the house.
A. with payment		B. free of charge 		D. delicious 			D. costly 
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.
Question 24: Students may also get in touch with a recruitment agency for their advice.
A. dismissal	B. career	C. employment	D. service
Question 25: Tom wanted  to soar  the heights of science so he was always at the lab to carry out experiments day by day.
A. to achieve	B. to fly	C. to get                  D. to dedicate
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions 
Question 26: It is unnecessary for you to finish the report until tomorrow afternoon
A. You needn’t finish the report until tomorrow afternoon.
B. You have to finish the report until tomorrow afternoon.
C. You may finish the report after tomorrow afternoon.     
D. You should finish  the report until tomorrow afternoon
Question 27: The last time I saw her was three years ago.
A. I have not seen her for three years.		B. Three years ago, I used to see her.
C. I started to see her three years ago.		D. I have seen her for  three years .
Question 28:  "What did you eat for dinner last night?" asked my friend. 
A. My friend asked me what I ate for dinner the previous night. 
B. My friend asked me what did I eat for dinner last night. 
C. My friend asked me what I had eaten for dinner the previous night. 
D. My friend asked me what had I eaten for dinner the previous night.
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 29: We should remember that all these things have been discovered by way of rigorous analysis and exhausted experience, not by intuition.
      A.exhausted	B. should remember	C. rigorous	D. have been discovered
Question 30: On the other hand,it’s the duty of the young to take care of his elderly parents. 
   A. the                      B. duty	                             C. his	                    D. take care
 Question 31: When I turned on my computer, I was shocked to find some junk mail, and I delete  it all.
A. shocked	B. to find	C. and	D. delete

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions
Question 32: He is short-sighted. Therefore, he has to wear the glasses.
A. If he isn’t short-sighted, he won’t have to wear the glasses.
B. If he hadn’t been short-sighted, he wouldn’t have had to wear the glasses, 
C. If he weren’t short-sighted, he wouldn’t have to wear the glasses.
D. Should he not be short-sighted, he won’t have to wear the glasses.
Question 33: Mike became a father. He felt a strong sense of responsibility towards his parents.
A. Were Mike to become a father himself, he would feel a strong sense of responsibility towards his parents.
B. Only after Mike had become a father himself did he feel a strong sense of responsibility towards his parents.
C. Had Mike become a father himself, he would have felt a strong sense of responsibility towards his parents.
D. Not until he felt a strong sense of responsibility towards his parents did Mike become a father himself.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that bestfits each of the numbered blanks from 34 to 38.
How long do you sleep every night? Think of all the things you could do instead of wasting every night sleeping! The idea of never sleeping might sound great, but getting a good night's sleep isn't a waste of time - it's vital for our health. (34)______, we have to sleep to stay healthy.
Most people need more than seven hours' sleep a night, and teenagers might need nine hours. Research shows that if you sleep for four to five hours, you get more (35)______ (like coughs and colds) than if you sleep for at least seven hours. This is because tiredness (36)_______ your immune system weaker. If you don’t sleep enough, you can also get headaches, and your sight can get worse. Being too tired changes (37)______hormones, too. This change in hormones can affect your skin and give you pimples, and it can also make you eat too much. All of this can affect your mood, and many teenagers (38)______don't get enough sleep feel angrier and more miserable than people who do.
Question 34. A. Although  	B. Therefore		C. Because 		D. However
Question 35. A. illnesses	B. treatments		C. remedies		D. symptoms 
Question 36. A. brings	B. does 		C. takes		D. makes
Question 37. A. much 	B. every 		C. some		D. each 
Question 38. A. which 	B. who			C. whom		D. when
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39- 43
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39- 43
Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60 and older, and in 15-20 years the elderly will account for one third of the total population. This raises concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on economic integration and requires a large labor force. So far two solutions have been proposed: to loosen the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the two-child policy the government expects to make up for the ageing population within the next 20 years. But its effect could be creating an uncontrollable boom in the Vietnamese population. When the government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third child birth rate increased remarkably by 7.5 per cent
Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly while creating savings in the pension budget, it also means fewer job prospects and promotion opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture, manufacturing and construction where working above the age of 50 can be dangerous and unproductive. Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.
Question 39: The best title for this passage could be …………
A. Vietnam struggling with ageing population 
B. Stopping the two-child policy in Vietnam
C. Raising the retirement age in Vietnam         
D. How to solve the aging population in Vietnam
Question 40: Which statement is probably TRUE according to the paragraph 1?
A. In 2017, the elderly take up for one third of the total population.
B. In 2015, the two-child policy has been officially tightened and succeeded.
C. The government has set out a law to decrease the retirement age for employees.
D. In 15-17 years, our economy will need a large labor force to integrate with global economy.
Question 41: The word “its" in paragraph 1 refers to ________?
A. two-child policy        B. aging population     		C. retirement age 	D.economic integration
Question 42: In the 2rd paragraph, the writer suggests that ________.
A. The Ministry of Labor has applied raising the retirement age in May 2017.
B. Raising the retirement age can reduce job opportunities for younger generations.
C. The elderly whose age is 50 would be dangerous if they continued to work
D. Raising the retirement age and stopping two-child policy can be long-term and effective solutions.
Question 43: The word "temporary" in paragraph 2 means ________.
A. constant 	B. permanent	 C. short-term           D. long-term

Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to each of the questions from 44 to 50. 

The difference between the nuclear family and the extended family is that a nuclear family refers to a single basic family unit of parents and their children, whereas the extended family refers to their relatives such as grandparents, in-laws, aunts and uncles, etc. In many cultures, and particularly indigenous societies, the latter is the most common basic form of social organization. 
A nuclear family is limited, according to Kristy Jackson of Colorado State University, to one or two parents (e.g. a father and mother) and their own child, or children, living together in a single house or other dwellings. In anthropology, they only must be related in this fashion; there is no upper or lower limit on the number of children in a nuclear family. 
The extended family is a much more nebulous term, but in essence refers to kin or relations not covered by the above definition. In historical Europe and Asia as well as in Middle Eastern African, and South American Aboriginal cultures, extended family groups were typically the most basic unit of social organization. The term can differ in specific cultural settings, but generally includes people related in age or by lineage. Anthropologically, the term "extended family' refers to such a group living together in a household, often with three generations living together (grandparents, parents, and children) and headed in patriarchal societies by the eldest man or by some other chosen leadership figure. However, in common parlance, the term "extended family" is often used by people simply to refer to their cousins, aunts, uncles, and so on, even though they are not living together in a single group. 
Historically, most people in the world have lived in extended family groupings rather than in nuclear families. This was even true in Europe and in the early United States, where multiple generations often lived together for economic reasons. During the 20h century, average income rose high enough that living apart as nuclear families became a viable option for the vast majority of the American population. 

Question 44. Which of the following could be the best title for the passage?
A. The dominance of nuclear families over extended ones 
B. The dominance of extended families over nuclear ones 
C. A distinction between nuclear families and extended ones 
D. The changes of family types over times 
Question 45. The word "the latter" in paragraph 1 refers to ____.
A. family unit 		B. relatives 		C. the nuclear family 		D.the extended family 
Question 46 The word "patriarchal" in paragraph 3 is closest in meaning to ____.
A. ruled or controlled by men 			B. equal for both men and women 
C. simple with no rules and laws 			D. modern with advanced facilities 
Question 47. According to the passage, single-parent households ____.
A. are not defined by anthropologists 		B. are the existing trend of family arrangement 
C. are included in the term "nuclear family" 		D. are on the decrease 
Question 48. The word "viable" in paragraph 4 could be best replaced by ____.
A. impossible 		B. possible		C. explainable 	D. fashionable 
Question 49 . Which of the following is TRUE according to the passage? 
A. Since the 20th century, more and more American couples have lived in extended families because of the financial burdens. 
B. Nuclear families are the most basic form of social organization all over the world. 
C. The popularity of nuclear families in western countries helps to stabilize family arrangement.
D. Traditional nuclear families have changed a lot over times.
Question 50. What can be inferred from the reading passage?
A. Indigenous communities have been completely eradicated all over the world. 
B. In the future, all extended families will be replaced by nuclear ones. 
C. Anthropology is a science concerning human race and its development. 
D. Couples with no children can't be defined as families.



